Place this chapter in the Marinators
section of the Equipment Manual.

MANUFACTURED
EXCLUSIVELY FOR

McDONALD'S®
BY

WELLS

MANUFACTURING
265 Hobson Street
Smithville, Tennessee 37166

www.wells-mfg.com
TABLE OF CONTENTS

WARRANTY gespe crovemnoconsmons Sherese eners. snsmiessiin st s S CHRS ST Ieys S T RVARTS Ut avavarst 5ist o SISVAYeTS Page 2
INTRODUCTION :rrormaremns sxcensmoserersne mosensisists SRR R REEE FTRR T T ST (Ve s Tasists Page 2
Loy o e e e R O I LIty T, OF0 0. 0 M TR0 0.0 0 OB E OGP o e e Page 2
PARTS IDENTIFICATION/FUNCTION/PHOTO ......ccittniiiiiiineennnecnnesennnnns Page 3
EQUIPMENT SET-UP AND CLOSEPROCEDURES ............ccciiiititiinnennnnnnnas Page 7
TROUBLESHOOTING .......iiiititiiiiiiittieetasensasoerosasasssasnsanaonasanss Page 7
NON-SCHEDULED MAINTENANCE .........ciiiitttitinnterenrecessnnannnansenns Page 9
ORDERING/SERVICEINFORMATION . ... ..iiiiiiiiiiiiiittnetarensonnansnaannns Page 9
WIRINGDIAGRAM . 2. o151 1 hm Ve ravis ohssa sra ore s s oo sEoteRe el MeTepensne-areisgersrepenons wyererossiifoysls 5 Page 11

WIRING! PICTORIAL 7 550 0siiBIG c455 706 i s e aamanivars To/sTa e2eoTefe oToto isalhos ofs (ois (SLSESAoTS *1SAmESNSRISTONS Page 12
©1985 McDonald’s Corporation Printed In

All Rights Reserved The United States of America



WARRANTY

This MDMW-2 Marinator manufactured by Wells
is warranted to be free from defects in materials
and workmanship for a period of one year from
the date of original installation and is for the
benefit of the original purchaser only but is not
against damage caused by abuse, faulty installa-
tion, including improper electrical current (125
voits, AC). THIS WARRANTY IS THE COM-
PLETE AND ONLY WARRANTY, THERE BEING
NO OTHER WARRANTIES, EXPRESSED OR IM-
PLIED IN LAW OR IN FACT, INCLUDING BUT
NOT LIMITED TO, WARRANTIES OF MER-
CHANTABILITY OR FITNESS FOR ANY PAR-
TICULAR PURPOSE, AND/OR FOR DIRECT, IN-
DIRECT, OR CONSEQUENTIAL DAMAGES IN
CONNECTION WITH WELLS PRODUCTS.

Wells’ obligation under this warranty is limited to
the repair of defects or replacement without
charge by a WELLS factory authorized service
agency or one of its sub-service agencies. This
service will be provided on customer’s premises.

Please contact the Service Department: Wells
Manufacturing Company, P.0. Box 280, Verdi,
Nevada 89439; to arrange service or for addi-
tional information and other details concerning
the product and/or this warranty.

INTRODUCTION

This Commercial, Counter top marinator Model
MDMW-2 is designed to be used wet. The unit
will hold food at the desired serving tempera-
tures. Wet operation distributes heat evenly to
the food which is to be placed on false bottom
trays provided.

SAFETY

Knowledge of proper installation, operation and
maintenance procedures is essential to insure
safe operation of any equipment. The instructions
in this chapter are meant as guidelines; major
considerations to be kept always in mind are:

1. Use dry hands to turn power switch on or off.

2. Turn off power switch anytime marinator is
not in use.

3. If an electric shock is felt when touching the
cabinet, disconnect immediately. Call Wells
Service Department for repair.

4. Have electrical supply outlet installed by a
licensed electrician. Make sure thai equipment
is properly grounded.

5. If you find that the electrical cord is frayed, DO
NOT PLUG INTO A RECEPTACLE.

If it is already plugged in, disconnect the plug
after shutting off the circuit breaker.

6. DISCONNECT POWER CORD BEFORE AT-
TEMPTING ANY REPAIRS AND/OR CLEAN-
ING THE UNIT WITH WATER.

7. Allow unit to cool before cleaning.

8. DON'T EVER SPLASH WATER WITH A
HOSE OR OTHERWISE ONTO THE UNIT.
WET ELECTRICAL COMPONENTS AND WIR-
ING MAY PRESENT A SHOCK HAZARD.

9. DON'T REMOVE SCALE FROM PAN WITH A
SHARP KNIFE — FOLLOW CLEANING PRO-
CEDURE DESCRIBED ON THE PLANNED
MAINTENANCE SYSTEM CARD #61.



PARTS IDENTIFICATION/FUNCTION/PHOTOS

PART
ITEM | NO. DESCRIPTION QrTy. FUNCTION
1 21077 | Marinator with 2/3rd Size Pan 1 Marinator to hold hot food in 2/3rd size
pan equipped with false bottom tray,
lids, 2 piece divider and timer mounting
bracket.

2 61132 | 2/3rd Size Pan 1 Pan equipped with false bottom tray to
hold food.

3 61155 | False Bottom Tray 1 To hold hot food and let grease drip
thru holes onto water (5 oz. per pan).

4 61149 | Lids 2 Lids to cover pan.

5 61728 | Timer Bracket 1 To mount the countdown timers.

6 60648 | Cord Set 1 Protective wire set to connect appli-
ance to electrical supply system and to
ground the unit.

7 61980 | Product Divider Insert 1 Used to separate products.

8 61981 | Product Divider — Center 1 Used to separate products.




PART

ITEM | NO. DESCRIPTION QTy. FUNCTION
9 50330 | Power Switch 1 Turns electric power ON or OFF to the
unit.

10 51157 | Power Telite (Red) 1 When lighted, indicates power is pro-
vided to unit.

1" - Specification Plate 1 Indicates model number, serial number
and electrical rating of the unit.

12 60590 | Convenience Outlet 1 120V, 4 Amp, 500 Watt outlet for
limited usage device. Energized at all
times. (For Timer).

13 60588 | Thermostat Knob 1 | To manually set temperature of water in
the pan.

14 60587 | Calibration Plate 1 Inscribed with temperature scales of
140°F to 200°F (60°C - 93°C)

Permits calibration to the indicator
point of the thermostat knob.

15 60563 | Thermostat Telite (White) 1 Telite cycles ON-OFF with thermostat

indicating when the unit is calling for
heat to maintain water temperature.




PART

ITEM| NO. DESCRIPTION QrTy. FUNCTION
16 60597 | Control Panel 1 Used to mount electrical components.
17 60596 | Rear Panel 1 Encloses rear of unit.
18 60591 | Shell 1 Encloses all electrical components and
water pan.
19 60594 | Water Pan with Water Level 1 Pan used to hold heated water.

Markings




PART

ITEM | NO. DESCRIPTION QTy. FUNCTION
20 61732 | Rail Mount Base 1 Panel to cover electrical components at
the bottom.
21 Fiberglass Insulation Insulation to prevent heat dissipation
60660 (Sides) thru sides and bottom.
60661 (Bottom)
22 60892 | Thermostat 1 To maintain water pan temperature.
23 — Thermostat Bulb (Part of Item 22) 1 Temperature sensing part of the ther-
mostat.
24 60598 | Thermostat Clamp Plate 1 Clamps thermostat bulb to the water
pan.
25 60599 | Heating Element Pan and Clip 1 Clips retain heating element and ele-
Assembly ment radiates heat into water pan.
26 60566 | Heating Element 1 To convert electric power to heat.
27 60586 | Wiring Harness 1 Electrical distribution system for elec-
trical components.
28 60638 | Cover, Insulation 1 Panel to retain insulation.
29 60564 | Feet 2 Non-skid and raises unit off table for air

circulation.




HARDWARE IDENTIFICATION

ITEM PART NO. DESCRIPTION QTy.
a 60670 Screw, 1/4 — 20 x 3/8 SS Truss Hd. 2
b 60589 Strain Relief 1
& 55736 Nut, Green W/Washer 8-32 1
d 60612 1/4 — 20 x 1/2 SS Truss Hd. 2
e 53192 On-Off Plate 1
f 55135 Screws, Rd. Hd. Phillip 6-32 x 1/4 16
g 60565 Label 1
h 60669 Screws, Slotted Truss Hd. SS 6-32 x 3/16 2
j 55492 Screws, Flat Hd. Phillip 8-32 x 1/2 6
k 51716 Washer, Flat #6 Monel Element 4
m 55313 Nut, Kep 10-32 4
n 50397 Clip, Heating Element -]
p 55137 Speed Nut, 8-32 6

SET-UP AND CLOSE PROCEDURES
Set-Up — Complete the Following:
¢ Ensure that the power cord is plugged into the

appropriate receptacle.

e Ensure that water pan has warm water up to
the water level mark on the sides of the pan.

e Ensure thermostat dial is set correctly.

e Ensure that dividing strip is in the middle of the
pan.

* |nstall the one (1) 2/3rd size pan.
¢ Ensure that false bottom tray is in the pan.

e Cover the pan with lids. Turn the power switch
to the ON position.

e Allow the unit to warm up for 60 minutes
before placing product inside.

Close — Complete the Following:

¢ Turn the power switch to the OFF position.

® Unplug the unit and the timer(s).

e Remove the lids and the pan with false bottom
tray.

¢ Remove the timer mounting bracket.
e Empty the water from water pan.

* Using a clean damp cloth towel, wipe the
water pan.

e Wash and sanitize all lids and pans and set
aside to air dry.

CAUTION: Do not immerse the marinator
in water or damage will occur.

e Store the unit in designated area.

CAUTION: Equipment and water contents
are hot, use breakfast cart to transport to
sink area.

Also use necessary precautions such as gloves
etc. to handle hot unit and water or let it cool
before handling.

TROUBLESHOOTING

In servicing equipment which has malfunctioned,
it is very important to:

1. DEFINE the problem and accurately determine
what the malfunction is.

2. Determine the BASIC CAUSE.

3. ELIMINATE the cause and repair the malfunc-
tion (obviously, if the cause is not properly
identified and eliminated, the malfunction may
recur).

It is usually relatively easy to define the malfunc-
tion, but sometimes very difficult to spot the cause.

If the problem remains after following the sugges-
tions listed, contact your service representative.



trical tests are required.

TROUBLESHOOTING GUIDE

WARNING: Inspection, testing and repair of
electrical equipment should be performed only by
qualified service personnel. The unit should be
unplugged when servicing, except when elec-

DANGER: Use extreme care during electrical cir-
cuit tests. Live circuits will be exposed.

PROBLEM

PROBABLE CAUSE

CORRECTIVE ACTION

Warmer does not
heat. No power
on telite (red).

a. Power switch not on. . Turn power switch on.

b. Store circuit breaker off. . Reset store circuit breaker.

c. Cord-plug not plugged into the . Plug in the cord and make sure twist lock is
receptacle. engaged.

d. Power switch defective. . Replace power switch. (See page 9.)

e. Cord not connected inside.

. Call service agency.

Pans fioating in a. Too much water in the water . Scoop water out with a cup until water
water. pan. level is down to the mark.
Product is too a. No water under false bottom . Add five (5) oz. of water under the false
dry. tray. bottom tray.
b. Temperature too high. . Perform Calibration Check according to
PMS Card 61.
Power switch is
on.
a. No thermostat | a. Thermostat set too low, or ther- | a. Rotate thermostat knob to higher setting. If
telite (white). mostat telite defective. thermostat telite does not come on, call ser-
vice agency or replace telite. (See page 9.)
b. No thermostat | b. Thermostat defective. . Replace thermostat. (See page 10.)
telite and no heat.
c. No heat, but | c. Heating element defective or not | c. Replace heating element. (See page 10.)
thermostat telite connected.
is on.
Thermostat telite | a. Thermostat out of calibration. . To recalibrate follow PMS Card 61.
on and water b. Defective Thermostat. . Replace thermostat. (See page 10.)
boils at 180°F
setting.
Thermostat telite | a. 2/3 size pan not in the unit. . Install the 2/3 size pan in the unit.
on but water b. Thermostat out of calibration. . Recalibrate per PMS Card 61.
:\%TE;::?TBO‘:'EI? c. Defective thermostat or heating . Replace thermostat or heating element.
setting element. (See page 10.)
) d. Water pan has lime build-up. . Delime per PMS Card 61.
Unit is working a. Timer cord not plugged into . Plug the timer in.
but timer does convenience outlet.
not work. b. Timer cord defective. . Try another timer.
c. Convenience outlet on the unit . Call service agency.

not wired.




PARTS ORDERING/SERVICE INFORMATION

If service parts or technical information is required,
please contact the Factory Service Department.
To help speed up your inquiry the following infor-
mation is required:

1. Model Number: MDMW-2

2. Serial Number:
(Fill in for your records)

. Voltage: 120v
ltem Part Number:
Quantity Required:
Nature of service problem and symptoms.

Any other information that may be helpful in
solving your service problem.

Noosw

NON-SCHEDULED MAINTENANCE

Under normal conditions, with proper use and
cleaning, very little non-scheduled maintenance
will be required for this unit. However, this section
provides procedures for checking and replace-
ment of the various parts used within the cabinet
in the event that it becomes necessary. Before
replacement of any parts, refer to the Trouble-
shooting section for assistance in determining the
cause of any malfunction to insure that mainte-
nance is required.

WARNING — The procedures contained in this
section involve accessing bare electrical ter-
minals and exposes one to voltages capable of
producing fatal shock.

Before performing any maintenance on your
Wells marinator, you must do the following:

— Turn the switch to OFF position.

— Unplug the cord. WARNING: Failure to do
so may result in electrical shock.

— Let the unit and the water cool.

— Perform “CLOSE" procedure.

— Place the unit bottom side up.

— Unscrew and remove the rail mount base.

— Refer to Wiring Pictorial (page 12) for wiring
assistance. '

Note: Loctite #242 (Purple) should be applied to
all threaded parts before reassembly, except for
electrical connections.

Rail Mount Base
(4 Screws)

Procedure 1: To Replace the Power Switch

Tools: #2 Phillips Screwdriver, 1/4” Flatblade
Screwdriver, 9/16 Open End Wrench

Parts: Power Switch (Part Number 50330)

1. Unscrew the retaining nut from the switch
located on the control panel.

2. Pull the switch from inside.

3. Unscrew wire terminals and remove wires.

4. Reverse procedure to install new switch.

Note: Ensure that ON-OFF plate or marking is
in place on the control panel and around the
switch bushing.

Procedure 2: To Replace a Telite (White or
Red)

Tools: #2 Phillips Screwdriver, Needle Nose
Pliers

Parts: Telite (White or Red) Part Number 50563
(white) or 51157 (red)

1. Pull the wires with spade terminals off the
telite.

2. Squeeze the two (2) ears on the plastic body
of the telite and force it out the front of the
control panel.

3. Follow reverse procedure to install a new
telite.



Procedure 3: To Replace the Convenience
Qutlet

Tools: #2 Phillips Screwdriver, 1/4” Flatblade
Screwdriver

Parts: Convenience Outlet (Part Number 60590)
1. Unscrew two (2) screws holding the conven-

ience outlet to the control panel.

2. Pull the convenience outlet out through the
back of the control panel.

3. Unscrew the wire terminals on the outlet and
remove wires.

4. Follow reverse procedure to install new con-
venience outlet.

Power Power

Telite Switch

(Red) 9)
(10

Procedure 4: To replace the Heating Element
Pan Sub-Assembly

Tools: #2 Phillips Screwdriver, 3/8” Nut Driver

Parts: Heating Element Pan Sub-Assembly Con-
sisting of Part Number 60599 Heating Ele-
ment Pan and Clip Assembly and 60566
Heating Element

1. Remove the two (2) nuts and the insulation
holding plate.

2. Remove the 9” x 11~ piece of insulation.

3. Remove the two (2) nuts retaining heating ele-
ment pan.

10

4. Remove the heating element pan from the two
(2) studs.

5. Unscrew the heating element wire terminals
No. 1, 2, and 3 (See wiring diagram page 12).

6. Follow reverse procedure to replace the
heating element pan assembly.

Procedure 5: To Replace the Thermostat

Tools: #2 Phillips Screwdriver, 1/4” Flatblade
Screwdriver, 3/8” Nut Driver, 3/8” Open
End Wrench

Parts: Thermostat (Part Number 58968)

1. Remove heating element pan assembly ac-
cording to Procedure 4.

2. Unscrew two (2) nuts and loosen or remove
the thermostat bulb clamp.

3. Slide thermostat bulb out.

4. Remove the thermostat knob and unscrew the
two (2) screws mounting the thermostat to the
control panel.

5. Unscrew the wire terminals to the thermostat
and remove wires.

6. Remove the thermostat.



7. Follow the reverse procedure for installing a
new thermostat.

Step 2 Thermostat

Note: After installing a new thermostat check
thermostat calibration according to PMS Card 61.

Heating Element Pan Assembly

WIRING DIAGRAM

WIRING DIAGRAM For MDMW-2
120 VOLTS, SINGLE PHASE

HEATING ELEMENT CONVENIENCE OUTLET
. \ 500 Watt Maximum

THERMOSTAT TELITE
(WHITE)

THERMOSTAT

WATTS | VOLTS | NOM. AMPS

900 120 75 PLUS CONVENIENCE OUTLET

1"




£
WIRING PICTORIAL "
2 (2
tﬁt RS (&)
:’_'_. ‘ 0
... n if,"
% g “ |f""f)
e
) ® | 8
wCE s ©®
eV gt P ot (2
o o Yo g ‘
ot
1 05‘"“I
,w,‘.’,.’.ﬂﬂ 1*“
ﬁ‘t
16 @
¢ D) () ()

P/N 42084 RR/C1515



. CARD NO.
Marinators 61
Planned Maintenance System
Maintenance Requirement Card
Equipment: Wells: All Models

Precaution: Exposure to hot water occurs with these procedures. Use protective gloves or allow
equipment to cool. Always use dry hands when handling electrical parts.

PICTURES AND ADDITIONAL INFORMATION: Corresponding Chapter of Equipment Manual
Monthly Check Calibration

Tools: ¢ Digital thermometer with needle probe, flatblade screwdriver, protective gloves.
1. Ensure power cord is plugged in.

]

. If the marinator is hot, turn the power switch OFF and remove pans to allow the marinator
to cool.

. Fill the water pan with fresh clean water to the water level mark.

. Place pan(s) and lid(s) into the marinator.

. Turn the power switch ON.

. Rotate the knob until the arrow points to the 180° F (82° C) mark on the calibration plate.
. Allow the marinator to heat for 1 hour.

. When the thermostat cycles OFF (the white telite goes out), remove 1 pan with lid. Immed-
iately submerge the needle probe in the water. Make sure the tip of the thermocouple is
not touching any metal. Obtain the actual water temperature from the thermometer. If the
temperature reads between 175° and 185° F (79° and 85° C), the callbratlon check is
complete. If not, proceed to Step 9.

9, Loosen the 2 screws holding the calibration plate and rotate the calibration plate left or right
until the thermostat knob agrees with the thermometer reading. Do not turn the thermostat
knob. Retighten the screws.

10. Place the pan with lid back into the marinator, reset knob at 180° F (82° C), and allow the
heat to cycle ON and OFF for 1 cycle. Repeat Step 8.

11. Calibration check is completed.

Monthly Deliming of the Water Pan

Tools: e Kay Delimer, protective gloves, towel.
. Set the marinator as described in opening procedure.

0 N & e W

. Remove the pan(s) and lids.

. Ensure the water in the water pan is full up to 1 inch (2.5 cm) above the water level markers.
Pour 2 ounces (60 ml) of Kay delimer into the water.

Turn the thermostat knob CLOCKWISE all the way up.

Boil the water for 1 or 2 hours.

. Turn the power switch to OFF and unplug the cord.

. Let the water cool.

© @ N A W N

. Transport the marinator carefully to sink area.

10f2
© 1989 McDonald’s Corporation
All Rights Reserved Card 61



19

10. Scrub the inside of the water pan to remove white liming stains.

11. Pour the water into the sink.

12. Fill the marinator with fresh warm water up to 3” (7.6 cm) depth.

13. Scrub the marinator gently without splashing water and pour the water out into the sink.
14. Dry the marinator with clean dry towel.

20f2
© 1989 McDonald’s Corporation
All Rights Reserved Card 61




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




